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 All the Questions are compulsory and carry equal marks .      
	Q1.
	 What is the maximum shear force, when a cantilever beam is loaded with udl throughout?

	Option A:
	WxL

	Option B:
	W

	Option C:
	W/L

	Option D:
	W+L

	
	

	Q2.
	What will be the variation in BMD for the diagram? [Assume L = 2m].
[image: image1.png]10KN






	Option A:
	Rectangular

	Option B:
	Trapezoidal

	Option C:
	Triangular

	Option D:
	Square

	
	

	Q3.
	What is the maximum bending moment for simply supported beam carrying a point load “W” kN at its centre?

	Option A:
	W  kNm

	Option B:
	W/m  kNm

	Option C:
	WxL  kNm

	Option D:
	(WxL)/4  kNm

	
	

	Q4.
	 ________ curve is formed due to bending of over hanging beams

	Option A:
	Elastic

	Option B:
	Plastic

	Option C:
	Flexural

	Option D:
	Axial

	
	

	Q5.
	What is the relation between work done by external loads and work done by internal loads.

	Option A:
	They are unequal

	Option B:
	They are equal

	Option C:
	 Can’t say

	Option D:
	 Depends upon load

	
	

	Q6.
	What is the shape of load-deformation curve for a linear elastic member?

	Option A:
	Straight line with constant slope

	Option B:
	Straight line with varying slope

	Option C:
	Curve

	Option D:
	Sine wave

	
	

	Q7.
	 Conservation of energy will be applicable only when:-

	Option A:
	Static load is applied

	Option B:
	Dynamic load is applied

	Option C:
	Can be anything

	Option D:
	Large load is applied

	
	

	Q8.
	Fixed end moment due to support settlement is ---------.

	Option A:
	96EIδ/L2

	Option B:
	6EIδ/L2

	Option C:
	6EIδ/L

	Option D:
	4EIδ/L

	
	

	Q9.
	Fixed end moment for a fixed beam AB of span L loaded with central point load is W ------.

	Option A:
	WL/8

	Option B:
	WL/10

	Option C:
	WL/4

	Option D:
	WL/2

	
	

	Q10.
	A simply supported beam fixed at both ends can be analysis by ----------

	Option A:
	Moment area method

	Option B:
	Conjugate beam method

	Option C:
	Three moment equation

	Option D:
	Work done

	
	

	Q11.
	 If area of M/EI diagram between points A and B is –ve, then angle from tangent A to tangent B will be measured :

	Option A:
	Counterclockwise

	Option B:
	Clockwise

	Option C:
	Can be anything

	Option D:
	Can be anything zero

	
	

	Q12.
	The vertical deviation is measured along (if first point is A and second point is B):-

	Option A:
	A vertical line passing through centre of A and B

	Option B:
	A vertical line passing through A

	Option C:
	A vertical line passing through B

	Option D:
	 A vertical line passing through either of the end points

	
	

	Q13.
	In general tA/B implies:

	Option A:
	Vertical deflection of tangent at B wrt that at A

	Option B:
	 Vertical deflection of tangent at A wrt that at B

	Option C:
	Vertical deflection of extended tangent at B wrt tangent at A

	Option D:
	Vertical deflection of tangent at A wrt extended tangent at B

	
	


	Q14
	P is treated here as:-

	Option A:
	Constant

	Option B:
	Variable

	Option C:
	it doesn’t matter

	Option D:
	depends upon load

	
	

	
	

	Q15.
	What will be the work done if all three forces are place at once on the beam?

	Option A:
	 (p1 + dp1)(Δ1 + dΔ1) + (p2)( Δ2 + dΔ2)

	Option B:
	 (p1 + dp1)(Δ1 + dΔ1) + 1⁄2 (p2)( Δ2 + dΔ2)

	Option C:
	1⁄2 (p1 + dp1)(Δ1 + dΔ1) + (p2)( Δ2 + dΔ2)

	Option D:
	 1⁄2 (p1 + dp1)(Δ1 + dΔ1) + 1⁄2 (p2)( Δ2 + dΔ2)

	
	

	Q16.
	What is change in length of member if temperature increases by ΔT and expansion coefficient is ά?

	Option A:
	1⁄4 ά ΔTL

	Option B:
	1⁄3 ά ΔTL

	Option C:
	1⁄2 ά ΔTL

	Option D:
	ά ΔTL

	
	

	Q17.
	If any of the external forces acting increases, then internal energy would:-

	Option A:
	Decrease

	Option B:
	Increase

	Option C:
	Not change

	Option D:
	Become –ve

	
	

	
	

	Q18.
	For drawing ILD, what value of test load is assumed?

	Option A:
	1 unit

	Option B:
	Arbitrary

	Option C:
	Depends upon structure

	Option D:
	0

	
	

	Q19.
	Top most part of an arch is called ________

	Option A:
	Sofit

	Option B:
	Crown

	Option C:
	Center

	Option D:
	Abutment

	
	

	Q20.
	Shape of three hinged arch is always :-

	Option A:
	 Hyperbolic

	Option B:
	Circular

	Option C:
	Parabolic

	Option D:
	Can be any arbitrary curve

	
	

	Q21.
	In force analysis, weight of cable is generally ________

	Option A:
	Added

	Option B:
	Neglected

	Option C:
	Added in some, neglected in others arbitrarily

	Option D:
	Depends upon magnitude of other load

	
	

	Q22.
	 It is generally assumed that the cable is _________

	Option A:
	Perfectly flexible

	Option B:
	Perfectly inflexible

	Option C:
	Inextensible

	Option D:
	Perfectly flexible and extensible

	
	

	Q23.
	__________ is a vertical member subjected to direct compressive force.

	Option A:
	Strut

	Option B:
	Beam

	Option C:
	Column

	Option D:
	Post

	
	

	Q24.
	A body having similar properties throughout its volume is said to be _____________

	Option A:
	Isotropic

	Option B:
	Homogeneous

	Option C:
	Continuous

	Option D:
	Uniform

	
	

	Q25.
	Materials exhibiting time bound behaviour are known as ______

	Option A:
	Isentropic

	Option B:
	Reactive

	Option C:
	Fissile

	Option D:
	Visco elastic
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